Year 5 Homework, Autumn Term Week 10 2
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7x8=
66 - 11 =

8843 + 334 =
. 9332 -411 =

Multiply 78 by 100.
. What is 50% (half) of 80?

Maths: Speedy Six \

1) 993.22 + 288.98 =

2) 3928 -2129 =

3) 77x9 =

4) 48 + 6 =

5) What is 10% of 783? (divide
by 10)

6) What is 0.23 x 100?

\_

Keep practising your allocated times tables. /

Theme Homework — Due 29th November
Continue your Egyptian project. See the extra sheet for more detailed instructions.
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Spellings

Core Support
excitedly hardness
smoothly happiness
quickly gran
speedily must
enjoyably best
hungrily fast
every last
everyone because
determined this
correspond there

\_

Optional SPAG guestion (1 housepoint if

completed)
Draw lines to join two words that can become one word.
One has been done for you.
Word 1 Word 2
white ‘\: E
rain . board
tooth * * coat
space 1 ! paste

J

Homework is due in on 29t November
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